i

EEEELE s

T
"0 o

;ﬁfﬁ a3l T
.

7 AD/AY/8 352 5 ot SlLas 5 ol ESES S1
%ﬂﬂé {%-_,}L;‘.._...i-ru

éﬁgﬁ Oln! el 540

%‘}ﬁ* ,_-;_UL::_,:_..L.::,._-,J cpate &l

- 2355 25 s Bzl

. 59939 3903

% J?‘é Mﬁh u\;i)‘ Guu,lf‘slbu”a
.
-

. \PAS Jlow

;
M

_ = —~—
_ 339 P 9 N e
-

(Vo7 us)

24 X
e
_

"

B"drE

T
=

S
N

o ai'-{,r'
D

SRR

2
=i

e

S
i

L

3
N\

T
S

e

5 i

757 WG 0 3Llods g oload « Jilxiol olge

%g -r';.ll . - ' L] -ur

fﬂ’r“fé ol G 8 3Les 5 o Sl ool dlg—s sy
i Yo \ Yo aasl g oeges b \

U be T Ys P29 4% g gielanrd| Y

e ST SRR R il

?ﬁfﬂ% Yo 1 &) Yo e S 30 o Foliil g eis glel | ¥

kﬁ’ﬁ:ﬁ_ﬁ&ﬂ Qe Vi Yo g SeilBagw g wbibieS, | F

}% \E q) Yo T esathl gady| 0

ﬁéﬁ; \¥o 1} Yo 0338 il § oMol OS> | §

i

7 "';i : Ve AR Yo Eﬂj;ﬁ I-;!G._nl.u.nthal.n:;qu T v Y

i

-

el .

?@ 1YAQ JLH olo Wk

vl

e

Al ad o ilues cpadile 1 83lizl

Bz 3

e T S o £ D B m o e T — i3 et
. .. . .
'@ P ﬂ{@&%{ i;f/ﬁ i a-'ﬁgyﬁ;f{ﬁ_; . ,g.ﬁ;;

=
B

e

-

8




\ axawe

11-
12-
13-
14-
15-

Teme Al Lo _
ABIY/A LT ppees L5 N TR

Part A: Vocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.
Then mark your choice on your answer sheet.

Symptoms of the illness include a bigh temperature and a(n) —--—-— dry cough.

1) effective 2) persistent 3) respected 4) considerate

You can protect the floor with -----——- sheets of newspaper if you want to paint the walls.
1) mediating 2) restricting 3) overlapping 4) approaching

Modern examples of this type of weaving for Persian carpets in the region show little ———-—- o=
from traditional patterns.

1) deviation 2) relevance 3) application 4) permanence

The road ---------- the highway a mile from here — you can't miss the signs for it.

1) intersects 2) interferes | 3) intervenes 4) intercepts

The love and support of his family -------—-- him during his time in prison and made him feel
less desperate there,

1) resolved 2) sustained 3) assumed 4) determined

Anita had a(n) -------n-- arrangement with her brother — each would take care of the other's
children if the need arose.

1) adjacent 2) coherent 3) analogous 4) reciprocal

Despite some doubts by the experts, the ------—--—- of this painting to Rembrandt had never been
questioned.

1) attribution 2) simulation 3) association 4) specification

You had better not -—---—--- the car unlocked in this area — not even for a minute.

1) left 2) leave 3) to leave 4) leaving

He is studying mathematics so as —-— - for higher salary.

1) to qualify 2) qualifying 3) qualification 4) he qualifies

No sooner had he drunk the coffee —--—————- he began to feel drowsy.

1) that 2) when 3) than 4) which

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
blank. Then mark your choice on your answer sheet.

A person with poor self-esteem (11) -==--=---- a major struggle in work and relationships with other
people. If you put (12) ---------- value in yourself, others will not value you, (13) ==-------- want to
be with you. For if you are self-centred and don't have any real concern for (14) =---------, you will
be, in fact, harmful to your community. And if a person has positive feelings (15) ---------- himself

they need to be balanced by a concern for other people.

1) facing 2) faces 3) 1s faced 4) that faces

1) some 2) a little 3) Iittle 4) a great deal
1) or won't they 2) nor they will 3) or they won't 4) nor will they
1) the others 2) other's 3) others 4) the others'

1) of 2) by 3) with 4) about




PART C: Reading Cnmprehiun

Directions: Read the following two passages and answer the questions by choosing the best choice
(1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Surfing begins with the surfer eyeing a rideable wave on the horizon and then
matching its speed. A common problem for beginners is not even being able to catch
the wave in the first place, and one sign of a good surfer is being able to catch a
difficult wave that other surfers can not. Once the wave has started to carry the surfer
forward, the surfer will then quickly jump to his or her feet and proceeds to ride down
the face of the wave, generally staying just ahead of the breaking part of the wave.
This is a difficult process in total, where often everything happens nearly
simultaneously, making it hard for the uninitiated to follow the steps. Surfers' skills
are tested not only in their ability to control their board in challenging conditions
and/or catch and ride challenging waves, but also by their ability to execute various
maneuvers such as turning and carving. Some of the common turns have become
recognizable tricks such as the "cutback", the "floater”, and "off the lip". A newer
addition to surfing has been the progression of the "air" where a surfer is able to
propel oneself off the wave and re-enter. "Tube riding" 1s when a surfer maneuvers
into a position where the wave curls over the top of him or her, forming a "tube", with
the rider inside the hollow cylindrical portion of the wave. This difficult and
sometimes dangerous procedure is arguably the most coveted and sought after goal in
surfing. "Hanging Ten" and "Hanging Five" are moves usually specific to
longboarding. Hanging Ten refers to having both feet on the front end of the board

with all ten of the surfer's toes off the edge. Hanging Five is having just one foot near
the front, and five toes off the edge.

Which of the following is TRUE according to the passage?

1) There is often a rideable wave on the horizon for a good surfer

2) Being able to catch a wave differentiates a good from a bad surfer.

3) The speed of the wave and the surfer’s speed are-usually matched.

4) Surfers generally have trouble with waves that pushes them forward.

It is stated in the passage that ———-—--- .

1) surfers avoid the breaking part of the wave and usually ride down the face of it

2) surfing is, in fact, not a difficult skill to learn as even beginners can easily start to enjoy it
3) a surfer needs to jump to his or her feet long before the waves start to carry them forward

4) surfing is best carried out in the absence of strong waves

Which of the following is NOT mentioned in the passage with regard to a surfer’s skill?

1) Surfer’s age 2) Surfing board 3) Wave condition 4) The carving maneuver
Which of the following perhaps best indicates the ability of the surfers to surf well?
1) Hanging Five 2) Tube riding 3) Longboarding 4) The cutback maneuver

The word “coveted” in line 17 is best related to the word -—-—---- -
1) ‘design’ 2) ‘skill’ 3) ‘wish’ 4) ‘unique’
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PASSAGE 2:

A recurve bow in archery is the only type of bow currently allowed to be shot in the
Olympic games. The bow is held in the hand opposite to the archer's dominant eye.
This hand is referred to as the bow hand and its arm the bow arm. The opposite hand
is called the drawing hand. Terms such as bow shoulder or string elbow follow the
same convention. Right-eye-dominant archers hold the bow with their left hand, have
their left side facing the target, sight towards the target with their right eye and handle
the arrow and string with their right hand. Generally one wears a bracer (an arm-
guard), to protect the inside of the bow arm and a tab to protect the fingers of the
drawing hand. Some archers also wear protection on their chests, called chestguards.
Chestguards are to prevent the bowstring from being obstructed by the archer’s
physique or clothing as it is released. Of course, it also protects the archer. To shoot
an arrow with a recurve bow, an archer first assumes the correct stance. The body
should be perpendicular to the target and the shooting line, with the feet placed
shoulder-width apart. As an archer progresses from beginner to a more advanced level
an 'open stance' is used/developed. Each archer will have a particular preference but
mostly this term indicates that the leg furthest from the shooting line will be a half to
a whole foot-length in front of the other, on the ground. To load, the bow is pointed
toward the ground and the shaft of the arrow is placed on an arrow rest which 1s
attached in the bow window. The back of the arrow 1s attached to the bowstring with

the 'nock' (a small plastic component which is typeﬁed by a 'v' groove for this
purpose).

Which of the following is NOT true according to the passage?
1) The dominant eye determines the way ‘bow shoulder’ and ‘string elbow” are described.
2) The ‘bow’ and ‘opposite’ hand in archery are defined in relation to the dominant eye.
3) Left-eye-dominant archers handle the arrow and string with their left hand.
4) The Olympic games of archery are often played with recurve bows.
It is mentioned in the passage that —-—--—- :
1) archers generally use their lefthandto face the target and sight towards it with the right E}-’E:
2) the archer’s inside of the bow arm and the fingers of the drawing hand need to be kept safe
3) chestguards and the bowstring protect the archer’s physique and clothing from harm
4) chestguards and bracers have to be worn in all archery contests
The passage mentions, with regard to the archer’s ‘stance’, that ——----—- .
1) the feet and the shoulder are nearly the same distance
2) the body and the target should be parallel each other
3) it depends on the location of the target and the shooting line
4) it differs according to the archer’s degree of progress in the sport
Which of the following is TRUE according to the passage?
1) The bow and the shaft of the arrow point in different directions while loading.
2) The arrow, the bow window and the bow string all point to one direction.
3) The bowstring is attached to a ‘rock’ through the back of the arrow.
4) The bow window and the arrow rest are linked in a recurve bow.
The word ‘groove’ in line 20 is best related to a -—-—--,

1) “break’ 2) “cut’ 3) ‘hole’ 4) ‘source’




26-

28-

29-

30-

¥ dazxao

WNeF uF) saaxi 4b;

PASSAGE 3:

For the purposes of the rules of field hockey, all players on the team in possession of
the ball are attackers, and those on the team without the ball are defenders. The match
is officiated by two field umpires. Traditionally each umpire generally controls half of
the field, divided roughly diagonally, although now experiments are being made
where either umpire can make any decision anywhere on the field. These umpires are
often assisted by a technical bench including a timekeeper and record keeper. Prior to
the start of the game, a coin is tossed and the winning captain can choose a starting
end or start with the ball. The game time is divided into two equal halves of 35
minutes each, with five minutes for half-time, At the start of each half, as well as after
goals are scored, play is started with a pass from the centre of the field. All players
must start in their defensive half, but the ball may be played in any direction. Each
team starts with the ball in one half, and the team that conceded the goal has
possession for the restart. Field players may only play the ball with the face of the
stick. Tackling is permitted as long as the tackler does not make contact with the
attacker or his stick before playing the ball. Further, the player with the ball may not
deliberately use his body to push a defender out of the way. Obstruction typically
occurs in three circumstances - when a defender comes between the player with
possession and the ball without first performing a legitimate tackle; when a defender's
stick comes between the attacker's stick and the ball or makes contact with the

attacker's stick; and also when (usually deliberately) blocking the opposition's passage

to the ball.

Which of the following is TRUE according to the passage?
|) Attackers and defenders alike can be in possession of the ball in field hockey.
2) There two umpires in each side who manage the game and controls its rules.

3) The time keeper, record keeper and the umpire are all members of the technical bench.

4) The field is divided into two parts each controlled by an umpire.

It is stated in the passage that —------—-,

| ) a game of field hockey can last up to 70 minutes with a 5-minute half time
2) the start of the game is determined by the captain winning the previous game
3) the play starts from the centre of the field if goals are scored in the game

4) a coin is tossed to make the choice of the ball clear for the defendants

The passage mentions that ---------- ;

1) tackling is allowed in field hockey under certain conditions

2) the ball is conceded to the attackers at the start of the half-time

3) field players are interested in playing the ball with the face of the stick

4) the players must send the ball in different directions once the game is restarted
We may understand from the passage that ——--—-—- -

1) tackles in field hockey are sometimes essential

2) a defender’s stick is the cause of the majority of obstructions

3) a great deal depends on successful obstruction in field hockey

4) it is not considered as fair game to cause obstruction in field hockey
The word ‘deliberately’ in line 16 most closely means ——-——- :

1)*specifically’ 2) ‘reflectively’ 3) ‘knowingly’ 4) ‘thoughtfully’
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